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Consider the following statements : 3.

1. Aadhaar metadata cannot he stored for

more than three months.

State cannot enter into any contract
with private corporations for sharing of

Aadhaar data.

3. Aadhaar is mandatory for obtaining

insurance produects.

4, Aadhaar
benefits funded out of the Consolidated

is mandatory for getting

With reference to the funds under Members of
Parliament Local Area Development Scheme
(MPLADS), which of the following statements
are correct ?

1. MPLADS funds must be used to create
durable assels like physical
infrastructure for health, education, cte.’

2. A specified portion of each MP’s fund
must benefit SC/ST populations.

3. MPLADS funds are sanctioned on

yearly basis and the unused funds
cannot be carried forward to the next
year,

4.  The district authority must inspect at

Fund of India. least 10% of all works ©und
* implementation every year. \
Which of the statements given above is/are
oy Select the correct answe :usfnl%e code given
s L below : °“ \ @\
(@)  1and 4 only @ © 1ad2 only
(i? “Bndz only
(b)  2and 4 only 3 X} @\- 1,2 and 3 only
(©) 3only % i d) 1,2and4 only
@ 1,2 andBolly m@ 4. Which one of the following categories of

(49

2. Rajya Sabha has equal powers with Lok

Sabha in
(@)  the matter of creating new All India
Services 5.
(b) amending the Constitution
(©)  the removal of the government
(d)  making cut motions
HGY-P-JHKI (3-A)

Fundamental Rights incorporates protection

against untouchability as g form of
discrimination ?
(a)  Right against Exploitation

(b)  Right to Freedom
(¢) Rightto Constitutional Remedies
(d) Right to Equality

In India, separation of Judiciary from the
executive is enjoined by

(@) the Preamble of the Constitution
(b)  a Directive Principle of State Policy
(c) the Seventh Schedule

(d)  the conventional practice
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g @is yera e s & v wega fan
?rTl‘rIT%:

(a)  Fremfes duda worn % s

M Y F Efwm & ageEde 112 aw
ITTIE 110(1) & FHROT

() WRd F WY *F IT=T 113 % F

(d) T IRgRca e ae  WeRue
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HGY-P-JHKI (4-A)
1 —
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G. Along with the Budget, the Finance Minister | 9,
also places other documents before  the
Parliament  which include “The Macro
Economic  Framework Statement'.  The
aforesaid document is presented because this
is mandated by

(a) Long standing parliamentary
convention

(B)  Article 112 and Article 110(1) of the
Constitution of India

(¢)  Article 113 of the Constitution of India

(d)  Provisions of the Fiseal Responsibility
and Budget Management, Act, 2003

In India, Legal Services Authorities provide

free legal services to which of the following

type of citizens ?

L. Person with an annual income of less
than ¥ 1,00,000

2. Transgender with an annual income of
less than ¥ 2,00,000

3. Member of Other Backward Classes
(OBC) with an annual income of less
than ¥ 3,00,000

4, All Senior Citizens

4]
Select the correct answer using the code given
below :

7. A constitutional government by definition is a (a)  1and2only (]
-
(a) government by legislature (b) 3and4 only \ @
(b)  popular government (€ 2and3 only @(\ °
(¢)  multi-party government (d Land J\ nlsx
*(d)  limited government ' \
% K’B‘}a\d&m ider the following pairs :
8.  Other than the Fund: amental Right&0 ~“ hig %f\ = International Subject
the following parts of (he, Qonsti agreement /set-up
) NN e N “9" |
India reﬂoct/:;:ﬂe{ le wineiples  and 1. Alma-Ata — Healthcare of
p:ov:%{sff ti {')Um\ rsal Declaration of Declaration the people
fmanRi 1948) 2 2, Hague — Biological and
" " Convention chemical
L.V Preamble weapons
— : = ) . 3.  Talanoa — Global climate
2. D Prine »
wrective Principles of State Policy Dialogue change

3. Fundamental Duties

Select the correct answer using the code given
below :

(a) 1 and 2 only
(b)  2only

(©)  1and3only
d 1,2and3

HGY-P-JHK]I (5-A)

4.  Under2 Coalition — Child rights
Which of the pairs given above is/are correctly
matched ?

(@)  1and2only

(b)  4only

(cj 1 and 3 only

(d 2,3and4 only
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11. HHdT e It SR 98 2 & R 14. Wi sit adare ¥ @ w awm TR
(a) d8g F @l uerifow ool & @R 3 ar$ Sl @ | 7' Prafafea § @ S 2 0
afafifirea g 2 .
_ (a) T o @1 F w9 ¥ gsafady g
(b) TR dEg F wf IagE) B 2 ik ;
I0F ZW T o TR 2 ) =i ged
() VR @i & g Faifea 2 2 sik (0 Frft wafe <t amfyy
I 2
@Rﬁmaﬁﬂb ) o Frifiam
() WEHR 6 F g Fh e R forg Fraifa
aEfy & gf 8 % R T oW ,
o kS 16. W % @l A, A w1 Fefifeg § 2
A 39 wfe-feor R 2
12. WA % Hlum w1 wRa wm s o | (1) HEAT SR zasmmaaﬁmnaam
% arredd H yon w2 stfiramor
(a) maﬁmﬁ%ﬁéﬂmm ¥
(b) e AfrHR (b) Eﬁgaﬁﬂﬁmmm%
(c) : ( }ﬁ
(;) wraEl g W‘é@; A s T =
e S Fren 1Ry
13. ﬁtif%rﬁaawrﬁmﬁau @ @ At B wrifRe s e
a1l
L ﬂ\ \ { |
@am\ﬁ’% am-ﬁamas
(’ ﬁvﬁmﬁamh 16. WA ¥ wfaum i R
2. WRd @ w@fayd, Tmiei B @ g (@ WU = wm @ faftrs |
3 aedl fm W dRum smfa 2, 6 T T - R
JEn ¥g Wgﬂﬁa}aﬁ & sgaean | . :
F@TR | (b) Hﬁwmm%’f%ﬁwﬁéﬁﬁmm
SR 2 A o p. o
(a) ¥ 1 (© Hlaum &1 wm R ik Am @ Riftrs wwm
) Faw 2 : el & e i 3w A o=
(© 137k 29 (@ wRym = R Ry e e w @
(@ 71,782 _ T B IE I s warg T 2
HGY-P-JHKI (6-A) |
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11. A Parliamentary System of Government is | 14. One common agreement between Gandhism

one in which and Marxism is

(a) all political parties in the Parliament (a)  the final goal of a stateless society
are represented in the Government

(b)  the Government is responsible to the () class struggle

Parliament and can be removed by it () abolition of private property

(€)  the Government is elected by the people

and can be removed by them (d) cconomic determinism

(@) the Government js chosen by the
Parliament but cannot be removed by it

before completion of a fixed G 15. In the context of India, which one of the

following is the characteristic appropriate for
12. Which part of the Constitution of India bureaucracy ?
declares the ideal of Welfare State ?

; . (@ An agency for widening the scope of
(a) Directive Principles of State Policy

R s parliamentary democracy o @
‘undamental Rights " \ \

@ Fromuble _ (b) An agencyo forﬁskﬁ‘nﬁtheging ‘the

(d)  Seventh Schedule wmm’%‘f ride \I\Dj

©° Af agengy for facilitating political

13. Consider the following statements - \egtamy and economic growth
1. The Constitution of India de\i'&eg-m @\(d) An ¢ % fml ” ¢
‘basic structure’ in terms\nf‘ e‘:i‘i?\.ml‘i‘san}\ ooy o0 the bmplamentitioa s
secularism, Rfu'hdaﬂ@ ights ™ and

democracy.
¥ 3

public policy

o Wa\¥ , ) :
2. I{;\ Adé}“—“’:"-’“ of India provides for 16. The Preamble to the Constitution of India is
Judicial review’ to safeguard the ’

citizens’ liberties and (o preserve the (a). a part of the Constitution but has no

ideals on which the Constitution ig legal effect

based,

~ () not a part of the Constitution and has
Which of the statements given above is/are 1o legal effect either
correct ?
(@) 1only () a part of the Constitution and has the
® 2only same legal effect ag any other part
(©) Both1and2 : (d) a part of the Constitution but has no
(d)  Neither 1 nor 2 legal effect independently of other parts
HGY-P-JHKI (7-A)
I
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17.

18.

HGY-P-JHKI

'R ?

‘e (e o) fafde =t R
(a) Taga dw R oo saen
b Fa dw H feelt w B @

(¢©) WTO T 36% HgEl 1 Yed Th 9@
quTef!

(d) IMF g1 38% GS@l & ¥ed UF 9@
o) &Rl

L

yE % dfum F wm v i e waudl &
wed 1, fafofan wuEl § A FRaA @

1. QA =RerEl g

A f\\@

2. fiﬁ@\@‘lﬂmﬂ & g |

@ s i el fige s % g
HIA T 1 SR S |

ﬂ%ﬁqw@zmmmaﬂmgﬁq:
(a) &ad 1

(b) e 2

() %awt 133

(d) %aw 23R 3

19.

\“@\'ﬁ \

20.

(8-A)

fr=fafaa wee w faer fifs .

1. Wwia % dfum & srEn, w8 off W
=fes o waeE & e 9y R, fRd o
% T Ar & fae = @mwEn s www R
W s 98 3@ T % faumga @
wewr TH # |

2. o wiefifte sifufem, 1951 % arEm,
w ft T = @ giftw sy *
afria St arm T R 3k R gl o
& fe FEm = @ fan mn R, g
wet & fau st 9k w fida @ s @
v @ a8 A A g © g E |

mmﬁﬁm«mw@i?\g\

T3 00

(d) :l?hlaaz

Fefafaa s w faem fifd .

1. mwmﬁﬁﬁmm%ﬁaﬂm
M, wEe H oW an@ (armEm) =
gehar @ |

2. WG @1 d@faum ok 9d #§ gue % T wE

w1 TEgE Fa g, fbg wft fim i W=
e s AfEr] TE R )

8. i fH i A F = den fulfa

Tl § S GUE 1 TeH IEWF B |

IRfaa el H A wEaa @ 8 2
(a) Hae 1

(b) FHIA 2

(¢) Had 13k 3

(d) e 23 3
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17.  “Gold Tranche” (Reserve Tranche) refers to 19. Consider the following statements :

; 1. According to the Constitution of India, a
(@)  aloan system of the World Bank person who is cligible to vote can be
made a minister in a State for six
months even if he/she is not a member

(b)  one of the operations of a Central Bank of the Legislature of that State.

2. According to the Representation  of
People Act, 1951, a person convicted of a

() a credit system granted by WTO to its

members ! criminal offence and sentenced to

' imprisonment  for five years s

. . permanently disqualified from

@ a credit system granted by IMF 0% contesting an election even after his
members release from prison.

Which of the statements given above is/are

correct ?
. (@)  1only \ @ '
18. With reference to the provisions contained in b 2 Oﬂlb’ @
Part IV of the Constitution of India, which of “ ~ Both 1 nd 2 @
the following statements is/are correct ? mum&nor 2

fﬁﬂ\conmdor the following statements :

f‘_"\

1. They shall be cnﬁ)rceable by caur JS

1, The President of India can summon a
2.  They shall .n 1 b ,“ll '
N X {: {le by any session of the Parliament at such place
caurl as he/she thinks fit,
T@yrm)nples laid down in this part are 2. The Constitution of India pro\'ldes for
three. sessions of the Parliament in a

to influence the making of laws by the year, but it is not mandatory to conduct

State. ' all three sessions,

3.  There is no minimum number of days

Select the correct answer using the code given
& g that the Parliament is required to meet

below ; «/in a year,
® 1lonly - Which of the statements given above is/are
' correct ?
(b) 2 only (a)  1only
(c) lands only @ Sealy
. () 1land3 only
(d)’ 2and3 only (d) 2and3 only

HGY-P-JHKI (9-A)

[ == ~— — s
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21.

22.

WA % sfoem & wed H, frafefea i w | 2.
ﬁﬁ'ﬂ'?ﬁﬁm: '
1. 3 — T g
2. afEm — = ifem Sl @
YR e
3. fmfer — v w T wEgE |
Iodaa il i A PR wd gifw 2 2
(a) Fae 13t 2
(b) Haw 23R 3 24.
© a3
) 1,23k 3 : .

wrm%;mﬂzs*ﬁgm%aaﬁu fr=
Forl W fem Ak . WQX

h‘hm\a,mg.
“EE,_
z ui % ugife

C. \

frafafaa #§ 8 SR suA sikifie wfR S

g e wared) & qaid # wwa w92 e

i 7l =TEn w2

(a) WA CEARI-3ET U 8 7 D |

(b) WG % Fe.3am § 9 = 9@ gen §
van g3 A |

© T & A wwi A W gl R w
off |

@ ffew Ieme F W Wil e e
T o |

Wi % ghem d frefafes sensii w fEw
Hifr ;

1. Ten W % i il @ e

2. R - Ii‘smﬂawm&:\wﬂm
3. 'mms L TR ugrzﬁvmm

4, @n@maﬁlm
394 wemall @1, Wi Fi @ oW =, wd
HICTTH 1 8 2

(a) 2-1-4-3

(b) 8-1-4-2

() 2-4-1-3

@ 8-4-1-2

Frafafen % @ SR svarm, sweedert
drdl # wr: 3fgfan G F e H whom

(a) TSN g I el & Rar

) vffE = dEisien sifka w=O awh

(d)mmmﬁmﬂmﬁzﬁ%mw

8. TERfUHl g gg % @iy ¥ HREE | 25.
dig o i defea fear |

S e A DA T U 2 g 1

(@) Fawm 13k 2 | ’ T

(b) Fad 230 3 i

(c) w3 () fafa o

@ 1,233 K icail
HGY-P-JHKI (10-A)

=

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

21. With reference to the history of India, | 23. Which of the following statements correctly
explains the impact of Industrial Revolution

consider the following pairs :
on India during the first half of the

1. Aurang — In-charge of treasury nineteenth century ?
dbeiaus (a) Indian handicrafts were ruined.
2. Banian  — Indian agent of the East (b)  Machines were introduced in the Indian
India Company textile industry in large numbers.
3. Mirasidar — Designated revenue (¢}  Railway lines were laid in many parts of
payer to the State the country.
Which of the pairs given above is/are correctly (d) Heavy duties were imposed on the
fiabihnd ¥ imports of British manufactures.
(a) 1andZ2only 24. Consider the following events in the historjr of
India :

(b) 2and 3only .
1. Rise of Pratiharas under King Bhoja

)  3onl " ﬂ
e biad : 2.  Establishment of Pallava power‘;':nd\er
(d 1,2and3 . Mahcndravarman -

3.  Establish nen of\ﬁho]a pov. er by
° Paranmk

22. With reference to the religious histo k‘ﬂ%_ﬁyﬂ ¥ founded by Gopala
India, consider the following slatcments q @\53‘ s the correct chronological order of the
above events, starting from the earliest time ?

1. St]nwravadms clona l‘ibla ' (@ 2-1-4-3

Buddhism. B 8-1-4-9

(Lomf.::v}u 1 secl was an offshoot of (e) 2-4-1-3

Mahg anghika sect of Buddhism, d 8-4-1-9

3. The deification of Buddha by

25. Which of the following phrases defines the
Mahasanghikas fostered the Mahayana

nature of the ‘Hundi’ generally referred to in

Buddhism. the sources of the post-Harsha period ?
Which of the statements given above is/are (@)  An advisory issued by the kmg to his
correct ? subordinates
(@ 1and 2 only (b) A diary to be maintained for daily

. accounts

(b)  2and 3 only (¢)  Abill of exchange

© Seoly (d An order from the feudal lord to his
(d 1,2and3 subordinates
HGY-P-JHKI (11-A)
e — =
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WA W & w Rl s
mmﬁm“?ﬁ?m”%@ﬁﬁ,
Frerfefaa weri w frem At .

W gws A sifafie o g wiges
i writes o % Ry § e 4 |

| W IR 3 @Rl o e au o
it 6 S frar |

ST G Y 0 o e, e i
fafire e 3 forar mar o |

ST ol A A A T Y
(@) *aer 130k 2

(b) et 233

(€ e 130K 3

d 1,233

26,

1

A

27. AR W § PR § 3w
Hfﬁrﬁ-wawih

L ggéaawﬁmﬁumﬁ?r m ﬁw%ﬁqanﬁ%ammﬂmﬂmzﬁsa
IMfEa FHe K aﬂﬁé@%:mmﬂwmﬁm?
2 W"T’l\\ﬁ__,mﬂjﬂwrﬁﬁmm N = D aA G @
o\ Hﬁ'mﬁ%aaﬁaﬁ:q&ﬁm&mﬁm'
IR
\C@f;a:;mﬁmﬁmm%gwﬂmsﬁ ;i T R e e ¥ R v
witpfa %%mmmﬁzﬁlﬁa
4, aﬂﬂﬁ%ﬁﬁﬁﬂzﬁﬁam e
et far @1 :??Hﬁmmﬂﬁmﬂxmﬁmﬁq@m
ERRGELE TR TR g— ‘
(a) Fael 1 ¥ N :Qﬁ;‘
(b) Fae 1,230k 4 (b)
() Fawt 3 -
(d) e 2, 330K 4 @ FoRE T
HGY-P-JHKI (12-A
: -A)

28,

29,

SHS

ST WY & ANl 1 @il 9, wem wifes
i ferer. e e g st 6
ot 7 |
(a) YA 9T TETE
(b) iifaen g

() WIETGH e it
(d) e T s

% Rww % wd b, “FemEm” g
“Qorare” vrez @ fifde @ § 2
(a) .mq

) fafm New gw=ii & Ry o
(c) Wﬁq_ﬁnm

) Tz@ .

\
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With reference to the book “Desiher Katha”

26. 28, The Vital-Vidhvansak, the first - monthly
written by Sakharam Ganesh Deuskar during Jjournal to have the untouchable people as its
the freedom struggle, consider the following target audience was published by
statements :

1. It warned against the Colonial State’s (@) Gopal Baba Walangkar

hypnotic conquest of the mind. (b)  Jyotiba Phule
2, It inspired the performance of swadeshi

street plays and folk songs. () Mohandas Karamchand Gandhi
3. The use of ‘desh’ by Deuskar was in the (d)  Bhimrao Ramji Ambedkar

specific context of the region of Bengal.
Which of the statements given above are
corr{:)ct ? 29. With reference to the history of India, the
(a) 1and 2only terms “kulyavapa” and “dronavapa” denote
(b) 2 and 3 only (@) measurement of land
(¢) 1and 3 only . \ @

b f
@ 1.3ends (b) coinso d:ff‘erent mn‘e\ry valu
. c) c]nssﬂ‘ at fur] IS]
27. The Gandhi-Irwin Pact included which of the (o |y !&\\o Whhrland
following ? (d;\ religious rituals
1. Invitation to Congress to pa tlc: '53
the Round Table Cnnferen p&x -’

2. Withdrawdl, of Ordina ce mmulgaf.ed 30. Who among the following rulers advised his
in f“"{“@%'é‘h ‘:}ﬁth the  Civil subjects through this inscri ption ? '

i

ﬁbedteuoe Movement “Whosoever praises his religious sect or

3\ Eeptance of Gandhiji’s suggcslmn for blames other sects out of excessive devotion to
enquiry into police excesses his own sect, with the view of glorifying his

4. Release of onl_y those prisoners who own sect, he rather injures his own sect very
were not charged with violence s O

Select the correct answer using the code given (a) .. Ashoka

below :

(@ 1 only (b) Samudragupta

(b) 1,2and4 only ;

© 3only (c) Harshavardhana

(d) 2,3and4 only (d) Krishnadeva Raya

HGY-P-JHK (13-A)
[

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

wRa ¥ wiepfor sfem F wed A, ‘wufrr’

wieg, 1 g e fosfafes 4 @ sRw 2 2

() HA ughi A ford e yrfiaam erduren aie

(b Fi F TR N FEfER FE AR
i e

(c) gftguiard fmeht wify & St va were
BA1

(@ mMrE wegdRia  <Rer wra  Hi
wfwameht = Afwi

31.

32, wndlg sfem & w@ed #, 1884 w1 wawEm
e fora wT g a1 2 ¢
wfeenati & fen v 1 st
weafa i ey

qive ARl 1 ST
R faw e e w1 v = ad

(a) *had 13N 2

“"sﬂ
(b) a,—am 2'afﬁ\
(c)

@\&
(ol

83. frafafas i 4 R oo @ wrg § e
W%Wﬁ?ﬁa?ﬁ@?ﬁ‘éﬁmgm?

(@ e ¥ I % s s %
HETRRl F1 g

1.
2,

3.

A

(b) #@ﬁmmmwﬁm
STATIHL BT

© @R & w g s g i
foren stem

(d) IEH F IR THR H1 Bz

34. JATA A weorrw H R faferm wiem D
w1 frg fag <) off 2

(a) 38 wiea 1 @ A e srilacd A Y@
& & foe e o

9 WA # wred 91 % ufa aifief g
S| T ArEan ot

oz faferm &0 s 3@s wgfimi @
TSI Y T <TEa o1

g fafen il @t v # yomm ¥
afdrfésa = =ngan o

(b)
(c)

()

m%sﬁrsm%ﬁatiﬁ

Wmﬁnﬁi@af@

85 %ﬁﬁzm
\“ \b)%m}%mﬁmﬁﬁzm

1859 — 60 & e e =
(d) 1899 - 1900 ¥ fera Her g #1

A )

A

(c)

36. WHIR Wra ¥ fpFiafteed ¥ def #
. Prafafeaa worl w Rer $ifte .

aiforfy geafier g A weifta @ |
smifee gdasa | gafta R |

HIfTEE = 79 - 11 ¥ FEfE |
S9gF FuAl H A P ad 4 o

(a) haet 130K 2

(b) Faet 2 3k 3

(¢) et 3

1.

2.

“3.

HGY-P-JHKI
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31.  With reference to the cultural history of India, | 34. Wellesley  established  the Fort William

which one of the following is the correct College at Caleutta because
description of the term ‘paramitas’ ? (a)  he was asked by the Board of Directors
(a) The earlicst Dharmashastra texts at London to do so

written in aphoristic (sutra) style (b)  he wanted 1o revive interest in oriontal
(b)  Philosophical schools that did not accept learning in India

the authority of Vedas (¢} he wanted to provide William Carey and
() Perfections whose attainment led to the his assaciates with employment

Bodhisattva path (d)  he wanted to train British civilians for
(d)  Powerful merchant guilds of carly administrative purpose in India

medieval South India
. 36. With reference to the history of India,

32. In the context of Indian history, the “Ulgulan” or the Great Tumult is the
Rakhmabai case of 1884 revolved around description of which of the following events ?
1. women's right to gain cducation & (a)  The Revolt of 1857 &
2. age of consent (b)  The Mappila Rebellion of 1921 \
3. restitution of conjugal rights (©) The lndlt,o Revolt. of{}g 60
, . : hSellect the correct answer using the code given o(d] BITSII'BII.II‘IH\.R ' {f(!m* 1 ?899 ~ 1900
clow :

| (@ 1and2only
(b) 2and3 only

| 6\,“@ statements ;
| (© land3 only ( E% 1. Panini is associated with Pushyamitra

@ 1, 2and\ %
2 ;
K <Iy({ﬁl‘;amur.um in India declined by the

ancient India, consider the following

3\6.] \‘JUI reference to l|le scholars/litterateurs of

Shunga.

2.  Amarasimha s associated  with
Harshavardhana,

1
bqgnmng of the 20" century because of
3.  Kalidasa is associated with Chandra

(n)  peasant resistance to the oppressive Gupta - 1.
conduct of planters ‘ .
Which of the statements. given above isfare
(b) its unprofitability in the world market correct ?

because of i i
se ol new inventions @ 1un d2only

(¢) national leaders’ opposition to the (b) 2and 3 only
! cultivation of indigo
[ (c) 3only

(d)  Government control over the planters (d) 1,2and3

HGY-P-JHKI - (15-A)
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37. WFE YA qaeh § atfima wifa & d@ed H,
“qrahfge TN (Pronuclear Transfer)
=1 wam fra A B @ 2

(@ §7 g ois & fiem % e grar g
1 I _

(b) YWFY] IS B Gl wiEst w6
ISR TRl :

() ‘©H (Stem) FIRHIA &1 HEfcHs Yuil 3
fermra

(@) daw # geelirent I i A Y

38. fom f wm &l F, .%ﬁ“ gfgam
(Artificial Intelligence), freifeifea d @
B Y §9 ¥ T 8 2

1 ot g %\aﬂi
ﬂ@%w\lf@@
e (o

4. é’tﬂ% 3 wfiw (Text-to-_Speech)ﬁ ‘If{a?h

39. W@ WEW WAR (VLO) awhl & ded
fraffea § @ B8 T @ €2

1. VLC, 375 ® 780 nm el fea-ge=hia
Tt qUEAl & IFm Fl |

9. VLC %1 dd.quHl Wil Jak @9R % €9
T FE IR |

3. VLC seqgd <t ger A a1 <l feerer wen
1 afftres @it A IR S EFa 2 |

2 fw e e wE W EE I gRL

(a) ael 1,23R 3 .

o

(© w1, 3&1{@ \\g\

@, mz@t‘;& .

R e fifw

1. I8 % wEdHs @ g e & a8
Iqnreel Fafaa =8 <@ |

2, A & ae 3 Afiees Tt

4. VLCH Rregq-grachma safoewor 7 & @ |
(b) Haet 1,23 4
%Mﬁ % dgi ¥, ﬁqﬁtﬁamﬁ
Frlieror =t w2, mﬁﬁaﬁétﬂ@
mméa%aa%@aitﬂ%ﬁw

HR
_5' ﬁmﬂmmm 3. wimed & AMIg e W anuiE
RN EF AT It |, gl < foen el s 61 gt &
: s forenfta fora s wasar B |

(a) %ad 1,2,33R 5 ssreti o by _
& ¥ 1,34 (@) ¥ 1
() Few 2,4 35 (b) ?6381a4‘h2

(¢) *hdd 2
@ 1,233,435 et w1 ol

HGY-P-JHKI (16-A)
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37. In the context of recent advances in human | 39. With reference to Visible Light
reproductive  technology, “Pronuclear Communication (VLC) technology, which of
Transfer” is used for the following statements are correct ?

(a) fertilization of egg in vitro by the donor 1. VLC uses electromagnetic spectrum
wavelengths 375 to 780 nm,
sperm
. ) 2. VLC is known as long-range optical
(b)  genetic modification of sperm producing wireless communication.
cells 3.  VLC can transmit large amounts of data
(c) development of stem cells into faster than Bluetooth.
functional embryos 4, VLC has no electromagnetic
(d) prevention of mitochondrial diseases in IndwTarancs.
offspring Select the correct answer using the code given
below :
(@) 1,2and3only
38. With the present state of development, (b) 1,2and 4 only
Artificial Intelligence can effectively do which | (¢) 1,3and4only \ m
ing ?
of the following ? @ 2, 3andd on‘i‘y @
1. Bring down electricity consumption in
. . : 40. W:ﬁx mfcrc-nc Blm,kclmm Technology”,
industrial units &
\1\ ns:\}e: the followmg statements :
2. Create meaningful short ”tor‘gk?d\ @ J It is a public ledger that everyone can
_ songs inspect, but which no single user
3.  Disecase dlmosqe, ®atools.
: 2. The structure and design of blockchain
4 b
cxt-\lo@pccch Com'crsmn is such that all the data in it are about
Wireless transmission of electrical cryptocurrency only.
energy 3.  Applications that depend on basic
features of blockchain can be developed
Select the correct answer using the code given without anybody’s permission.
below : Which of the statements given above is/are
reet ?
(@ 1,2,3and5 only o |
(a) 1lonly
(b) 1,3 and4only
(b) 1andZ2only
2,4and 5
() and 5 only @ 2only
) 1,2,3,4and5 (d) 1and 3 only
HGY-P-JHKI (17-A)
e e ==
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41. WA FegEl & el d, Frafafan s w | 13-
ﬁ{"ﬂ(@ﬁm:

1. A6 uEa 9k § el ok il &
aqERl & 9 H TG R o1 g @ )

2. ¥ A Wi & afora wm F fa
Fhm w FeEel % v # @
Ghal 2 |

3. i daEEfE wieE § 3w R | 4,
STEHa g | ‘

4. FER Fem du-fchechs
(biodegradable) Bt & |

94T FYE A A wHA EH 2

(a) hae 130K 2 '

(b) Faw 2,3 3R 4

(¢) e 1,33 4

(d 1,2 334 .

\

45.

42. ﬁwﬁ%ﬂﬂﬁﬁﬁﬁmﬁa‘é@@\ﬂ
~a 1\
P\ Lo g
DO TS = fow

“Dg wam v W@ IEferEE | sm § aen
A o wwag e A i IgE
ity s ww faferm aeft B

IR AE F A AR wmE @ el 1”7 FhE
wam fRd defifa wtar 2 2

(a) aRIS-2

(b) = EES

(c) LISA MYUHIEET

(d) gaieds LISA

Frafafaa sui w e Hift
1. wiEfl amfian & of W e e @
arelt Fif¥rwd # orEfie wReda fre
ST EFA § |
=fe &1 iAW 50 4 @ e
mmﬁw&a%mmﬁm%lm
L IEC ﬁﬁ? ageh = (pluripotent stem)
SIS B & SO Wi il
ﬁﬁmsrraa:m(_%\i \R\\
:ﬂgﬂawﬁﬁ-' g w2
(a) %ﬂ%]@z .

3

b \\\,: »

(d 1,233

Ra =qHRIEA gl dFH (Pneumococeal

Conjugate Vaccine) % 3941 &1 &1 e 8 ?
L 3 A5 = s @ @ afem

\(‘ _ sk A * freg ward 3 |
8. dwu. fwewu & oy sedow wft g 2. 3 ufesifaferdi w Fofar o0 6 s g
il % vam % T v mq%ﬂgu-uﬁﬁtﬂ e & freg
N
m :‘m;:ﬁnm T W, 394w fafafied § ¥ 3. % ﬂ?ﬁa}? g Tgw I (side effects)
: WM ¥ whaAIgEE R s wwar g 3R A A 3 AR i wegshan
29 / gﬁg sfaferand (allergic reactions)
21
() aer 1301 2 19 R m
e B TGN F TE I :
() Faer 2 3R 3 (a) Fad 1 b
(¢) %ad 133 (b) ad 1 3k 2
@ 1,233 © %3
@ 1,233
HGY-P-JHKI (18-A)
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41. With reference to carbon nanotubes, consider | 43. “The experi:-nunl.. will "‘"“pl.“y Iﬂ ;.l'iﬂ 0::
\he Billeviig atassnants spncccn'uﬂ. flying in formation in the 'a wape o
an equilateral triangle that has sides one
1. They can be used as carriers of drugs million kilometres long, with lasers shining
and antigens in the human body. between the craft.” The experiment in
question refers to
2. They can be made into artificial blood (a) Voyager-2
capillaries for an injured part of human (b) New Horizons
body. (c) LISA Pathfinder
3. They can be used in biochemical @ Evolved LISA
N 44. Consider the following statements :
4.  Carbon nanotubes are biodegradable, 1.  Genetic changes can be introduced in
Which of the statements given above are the cells l!ml. produce eggs or sperms of
» a prospective parent,
- 2. A person's genome can be edited before
(a) 1and2only birth at the early embryonic stage.
3.  Human induced pluripotent stem cells
b d 4 onl .. ;
(b} '%,3and 4oaly - can be injected into the embryo 6f a pig\
(c) 1,3and4only Which of the statements given above is/are
?
(d) 1,2,3and4 PR o
(@) 1only® \
(b, 2f='m d S%Iy
42. ; : 5.2
Consider the following activities : 3\1 1, 2 and 8
1. Spraying pesticides on a, (.1"0 fl“
2 Tnspacting ﬁ cr“.ters :u:twc 45. What is the . importance  of using
Pneumococcal Conjugate Vaceines in India ?
\'olcanoes : . .
g( 1. These vaccines are effective against
Cgllac ing breath samples from spouting pneumonia as well as meningitis and
whales for DNA 1 ahpeis,
ansiysis 2. Dependence on antibiotics that are not
At the present level of technology, which of effct;:i\’c :;gnillllst drug-resistant bacteria
can be reduced, .
the above activiti i
i es can be succcssrully carried 3.  These vaccines have no side effects and
out by using drones ? cause no allergic reactions,
(@) 1and2only Select the correct answer using the code given
below :
(b) 2and 3 only (a) 1only
(¢) 1and3only (b) 1and2only
T (c) 3only
= @ 1,2and3
HGY-P-JHKI (19-A)
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i H, ‘“ofecrs f SHRgEE’ (Public Key
Infrastructure) YZa9 fohuds wam o vy foman
SR ?

46.

(a) fefres gean snurom dom
(b) W GL&T TR |
(c) TETed g@wie iR i smaregm dwem

(d) TEER IR 9REE nureE d

47. Fafafas s 4 @ ¥RQ e, ofit wifer

48. f=fafaa i @ HF8 FrwvERs S5 wguu
Ieqw FI & ¢
1. *=e=iicia A (automobile) g1 Frewmifia
qerd
avaTE 1 Y
THEL 1 HA
T om0 Tl § S w1 39En
uifergfeds @ fffa 3mEi @1 3gdm
ﬁﬁqmﬁzwmwmmgﬁq
(@) <de 1,220 3
(b) et 2 W 4
(¢) e 1,330 4
(d 1,23 43R5
afe e sl A g ¢ iﬁ%ﬁ?ﬂumﬁm
2, @ Pi=fafea § 3 $Ra sz‘l:ﬂ

Do @

49,

HIrRI & e g S F an H g § 2 3, gaﬁ:yfiﬁr @Tz};a&q\gﬁg
1 rea Bl § dqeE S Rl mw’iﬂ
P i3 > W'ﬁ wﬁmmﬁﬂ&q@m
it 'im”“ \Ti \ 2.) $o 3 faew dHi W yRy weEn
| 3. Y5t @ # qui ofEdta @ e e
‘“”ﬁ\ ;j‘?\ @ ﬁéﬁkna@zﬂmmaﬁimgﬁq
_@Eﬁ\ Fagtrr i ﬁﬁ (a) ad 1
4&\\@#\*%\' (b) Faw 130K 2
\(‘a (¢) *aet 3
(d 1,233

A B safs witr St § opw oid |50 AR 3 1w d% F ¥ S @R (Demand
et e & | Deposit Account) 8 ¥ 1,00,000 F1 The TR
e &, @ svferawen # A w0 A o
HR e e gz w1 W w3 g ; , =1 @ny gfd W sEe g uvE w2m 2
(a) B3 i e
(a) aw 132 ‘ ?;Iq.ﬂ i o
(b) ee 2 3k 3 (b) &i’”ﬂ?ﬁm‘iﬁﬁ ¥ 1,00,000 1 3fg
g
(c) haat 130Kk 3 () Hz1 & @ gfd 8 ¥ 1,00,000  sifrw
i giz wefi
@ 1,233 () wz1 h wm yfd sfakia @n
HGY-P-JHKI (20-A)
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. « : . » | 48. Which of the following are the reasons/factors
46. In India, the term “Public Key Infrastructure for axposnrs t binsine pollition ?
io e in the vontuxt of 1. Automobile exhaust
(a) Digital security infrastructure 2. 'Tobacco smoke
3.  Wood burning
(b) Food security infrastructure 4,  Using varnished wooden furniture
5.  Using products made of polyurethane
(© Health care and education Select the correet answer using the code given
infrastructure below :
: (a) 1,2 and 3only
(d) Telecommunication and transportation (b) 2 and 4 only
infrastructure () 1,3 and4only
(d 1,2,3,4and5
49. If another global financial crisis happens in
2 Lissrinia % the near future, which of the follo (|
47. Which of the following statements are correc sctioaafolisies are modt, likely 1o gite s\q;&
regarding the general difference hetween immunity to l'ndig ? \@ . \
plant and animal cells ? 1. Not ‘f%!"’“d‘“g shor e . foreign
’ © herrowings
1. Plant cells have cellulose cell walls “2' \ OpeBing up to more foreign banks
whilst animal cells do not. (f 3\3 Maintaining full capital account
. convertibility
2. Plant cellsy do nao h%ve asma
\ \f‘\\a {2 y Selecl the correct answer using the code given
membraneunlike'amimal cells which do. helow: *
- 2
~ @a‘gl@plant cell has one large vacuole () 1only
whilst animal cell has many small G 1 ant? % only
vacuoles, © Somly
(d 1,2and3
Select the correct answer using the code given |
helow * 50. If you withdraw ¥ 1,00,000 in cash from your
Det:mnd Deposit Account at your bank, the
(a) 1and 2only immediate effect on aggregate money supply
in the economy will be
(b) 2and3only (a) toreduceit by ¥ 1,00,000
(b) toincrease it by T 1,00,000
1| () 1and3only e,
i (c) toincrease it by more than ¥ 1,00,000
' d 1,2and3 (d) toleave it unchanged
|
| HGY-P-JHKI (21-A)
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g

51.
3 @ wRd sweh yga faswa o S R 2
(a) ¥& yoa: frdl gefeg w83 4o
@yl g fear sm aen faa 2 )
(b) I8 yeIa: 7ol g 7 & aren §oit yer
g -
(© @ twm fRaw 2 Gl Tvamee
riferd &ram @ 1
(@ ¥z faesdt werm fEwsl go el
wfeyfedi § fofen s aren Fam R
52. GEMA # W@ & TR SR % G #,
fr=fafea #§ & SRR w vl 24 2
1. ¥Rd % U @ fRfE, e % 9REm 3
TR
2, WG & R 9 TN, W, -39 3R
' nefiHl 3 STrE # g % a9l | Sl 3
4|
3. wwra & FaaAi @ Frafa, é’maﬁ%m
3 afrs 2
4. YRG H FA et \@r%%m
URIE @R | V\\Gj i%;
-.\Fk‘ j L
a(‘f ﬂrﬂazaﬂu
( (c) Haw 3
(d) ﬁﬁa133ﬁt4
- 53, Fflwfl wEd § g 9@ 9 © 9w
e $eofifeue (West Texas Intermediate)’,
frafafas 4 3 fra w gid 6 Aot 4 dafta
27
(a) = ad H
(b) SEYA-9Tg (Bullion) <l
(0 oW g awl Hi
@ Ftem
HGY-P-JHKI (22

uRd sidemaryl & ded #, frefafea d |}
F-ara W-fdm v 8§ afbfaa 24 2

1. uREwi 1 9%rn g i

2. hfee HIE 9T FHmET T

3. TAHNY fa& (Treasury bills)

9 feu v ge 1 WA AR FE IW A

(a)
(b)
(c)
(d) 1,293

54.

i@ H, ®i Fo v figr ‘i

gtan:mzﬁ”a;mﬂar@aﬁi‘,mamga

gen & s 7 @ 9 2

() F3 Fham = w@rP
- odifem #=

- _ o
e,
"\ A
) wfﬁimﬁwiﬁammiﬁi’aﬂt
= wiE] I g
(d) To T @i 9t Bd § 3R I
foft wnfirea am@

55.

g 3 I

F@ 8 3R

!

56, ‘Iqr-gefa FEw 39rE’ (TRIMS) % def 1,
Freafafaa waAi § 8 Sa-aA a8 28 2
faeeht frRwet gro fome s Tt s W

‘gfomerss frdua’ fifig 93 8 1

A Twgail W@ daei dHi F =mw @
wafta fem Rl wam 26 € | i
3. 3 faesh My & fram 4 dafa 3 € 1
Hia e e Fe # WM wEd Iw gh

(a) Faa 132

(b) Waw 2

(¢) Fae 133

(d 1,233

L

2.

-A)
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51.  With reference to Foreign Direct Investment | 54. In the context of the Indian economy,
in India, which one of the following is non-financial debt includes which of the
considered its major characteristic ? following ?

(a) It is the investment through capital L~ Houstog louns owc-(l by housei.w-lds
instruments essentially in a listed 2 Amounts Ofu.standmg on credit cards
——" 3. ] Treasury bills

. . Select the correct answer using the code given

(b) It is a largely non-debt creating capital below : X ¢
flow. (a) 1only

() It is the investment which involves (b)  1and 2 only
debt-servicing. _ (¢) 3Sonly

(d) It is the investment made by foreign (d 1,2and3
institutional investors in the
Coveriisnt ssirities, 55. In India, why are some nuclear reactors kept

under “IAEA Safeguards” while others are

52. With reference to the international trade of not ?

India at present, which of the following (a) Some use uranium and others use

statements is/are correct ? thorium

1.  India’s merchandise exports are less (b)  Some use imported uranium and ‘ather
than its merchandise imports. use domestic supplies

2. India’'s imports of iron and steel, (© Some are o operawﬁ fumlgn
chemicals, fertilisers and machinery entcrpﬂst-:. and othery nperated by
have decreased in recent years. odomeat:c enl.erpnsc

3.  India’s exports of services are more than nme ¢ Slate owned and others aro
L : p;waf/y-owncd
its imports of services. o

. =

4. India  suffers from .an 2@; With reference to Trade-Related Investment
trade/current a—\a‘“ ung d@‘cit. Measures (TRIMS), which of the following

statements is/; el ?

Select the corpect :@vehuain}’ﬁw de given are correct ?

below, 3 1. Quantitative restrictions on imports by

\ ‘ foreign investors are prohibited.

(a) \\1and2only

®» % and aoily 2. They apply to investment measures

related to trade in both goods and

(c) 3only services,

d 1,3 .

(d) and 4 only 3. They are not concerned with the

regulation of foreign i

63. The term ‘West Texas Intermediate’, & L
sometimes found in news, refers to a grade of Ecllcct the correct answer using the code given

elow :

(a) Crude oil '

b Bul (@) 1and2only

ullion
(b) 2 only
Rare ecarth e

(c) are earth elements (¢©) 1and3only

(d) Uranium (d 1,2and3

HGY-P-JHKI (23-A)

[Z=m— == —————= =

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

57. ¥R smA.ad. yarad) @im fifa w1 o | 59
w1 Fola dm 2, ) 98 fr=fefga 7 4 @
g wm ?
1. QAuifes Woal IFEIW W geE 39

TR HE
2. dira el glaun 2 H ag
3. Hep g @l UTHET 991 19 3T A M) "ewn

#\%ﬁqmwwuﬂhaﬂa@éﬂtaﬁq:
() e 132

(b) Fae 2

(c) Fae 130K 3

@ 1,23R3

58. 1991 % onffs sellww ¥ ag Hi wdna | 60
sdorarar % day ¥, =il sl w
e e

1. el &= # aftes 6 IseEa (2004 - 05

srafs amfo & 1 gl w0 g 0
0. e 1 wwhor A ‘%‘ \(\(
ﬁ*‘{\@ﬁ%

\C a\i@xaﬁ\ A g — |

4. o Temw <1 gy g A Ff g |
T el A Bard ad ¥ 2
(1) Hae 130K 2
(b e 3 i 4
(c) a3
(d) Haer 1,23 4

HGY-P-JHKI (24-A)

Fr=faflga wuEl « fTar fifs .

1. ofi &= = syl v afge w3 *
g @, ‘foen F=lm wwed dw
(DCCBs) ‘srgfam afufsas dwi’ ud
‘Mﬂmﬂmﬁaﬁ’ﬁmﬁaﬂ‘wm
WE |

2. A (DCCBs) F TH FIH W@
R ‘wufie Fy wra e’ w0 G
IqerEY FHOAT R |

Wmﬁiﬁﬁqﬂqm@wafﬁv

(a) a1

(b) Hae 2

(¢) 131 22M

(@ IDLAD2

mnﬁ?maqﬁsmwzfmmﬁq{ﬁﬁ
@'@ﬁzﬁmﬁqaammﬁ;m
mmaﬁmﬁ&rﬁaaﬁﬂw‘g\ £ ]

w2 - m o

19 a‘iiamﬁ{\i‘uaa FOE a6 IaH U
# fmai w owfa afe @) d gfg & \ﬂ \ Erﬂ\%?n% A FERX e B

yeitlerd &6 3 @ 9rell ar
Ife gg wnfia € wman 8 o6 forell wrocl
a g AR FEg Wl THAH
TEETEI TR 2 1 7Y wEgel il T

3. 3l ame FawTEn @ @ @ @ el
=an w0 & fo fug wowrfma
Fand o W R el arE

4. uf2 +ré dvea 98 YEHEHT SRR T R
Wﬁmmﬁﬁaﬁaﬁﬁm

A2 fw e e w1 W A I A

() e 1,234

(b) haet 1,337 4

(c) e 23T 3

@ 1,2,33R4

: £
SRR S S5 N
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57. If the RBI decides to adopt an expansionist | 59. Consider the following statements :
monetary policy, which of the following would 1. In terms of short-term credit delivery to
it not do ? the agriculture sector, District Central
L.  Cut and optimize the Statutory Cooperative . Banks fDCCBs) deliver
Liquidity Ratio more credit in comparison to Scheduled
X y Commercial Banks and Regional Rural
2. Increase the Marginal Standing Facility .
Rate . .
2. One of the most important functions of
8.  Cutthe Bank Rate and Repo Rate DCCBs is to provide funds to the
Select the correct answer using the code given Primary Agricultural Credit Societies.
below : Which of the statements given above is/are
(a) 1and2only correct ?
(b) 2 Oﬂ]y (8) . 1 Oﬂly
(b) Z2onl
{(¢) 1and3only Y _
. i () Bothland?2
1,2 .
@ ; o (d) Neither 1 nor 2
. > o
58. With reference to the Indian economy after | 60. In India, under cyber insura 3 \fo
the 1991 cconomic liberalization, consider the individuals, wh:ch of th .rﬁ:ll\ow:ng bencﬁts
following statements : are generally cmrercd Gl\addltmn %o payment
s rdr the Joss oTIund%and otLher benefits ?
1. Worker productivity (T per worker at
2004 -05 prices) increased ingurbans ‘ nf restoration of the computer
areas while it decreased in rukal aréas, f 53" stem in case of malware disrupting
- =’ access to one’s computer
2.  The percentage-shdre! of wuraltareas in
e ag L 2. Cost of a new computer if some miscreant
the workf‘lm steadlly Jncre'nsed . - .
L wilfully damages it, if proved so
& ruraL arcas, the growth in non-farm 3. Cost of hiring a specialized consultant to
SEupoNTy acresed. : minimize the loss in case of cyber
The growth rate in rural employment extortion ;
decreased. 4. Cost of defence in the Court of Law if any
Which of the statements given above is/are third party files a suit
correct ? Select the correct answer using the code given
(a) 1land2only below :
(a) 1,2and4only
(b) 3and4only
(b) 1,3andd4only
@ Sy (© 2and3only
(d) 1,2and4only (d 1,2,3and4
HGY-P-JHKI (25-A)
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61. g H, Frefafea 4 & fed R § adafies | g T % o e 0 fefafew 4 Q@ SRR

ew 22

; mm::;ﬁm%mw e Al s 3 % e
Tmeda e fuifa wen wutfera = @ off 2

2. wfies it ara wfufdi @ Frageiem 1. =AY T gey

3. wmifee Gt faem 2.  HER G SR HE1

4. Fuml H Fges el H snghi 3. UER GRI MYSRYl HET

5 %mm@miﬁj@ 4. I GRIfARRAT (subsidies)

6. ﬁlﬁmfzﬁam.gmmaﬁwiﬁa o SR,

ﬁmm@wmmwﬁaﬁq: (a) Fael 1,2 3K 4

(a) hae 1,23 5 (b) Fae 1,330 4

(b) I 1,3,4 3R 5 (¢) %ad 23 3

(c) *aw 2,33 6 . d 1,2,33R4 | “
d 1,234,536 - m \
o |
1. _2\O
14

62. Wi H ®f &% “enonfa M (Interest | 64 S e Hfn

Coverage Ratio)”’ A ?RTI f )\“

22 ?2, 1. fiod g # ra-sfiee s ¥ g i
a'chr—t i

\\ aﬁ\\;{aﬁﬁ’?mg| 2. WRa 3R areey F 9 BN At SR i

(’F‘F“‘ - ?Ei; R R T T  pa—

; | @ § | ,

3. 3maﬁmaﬁwdmm-wﬁamgm 3. ﬁisﬁq?amﬁﬁ grmqﬁmﬁm%
ﬁ?FlT 31&55 L ’ §
mm@@ﬁ@?ﬁa o AT B TR g1 HPAER AT R |

ﬁﬁQW%mmaﬂaﬂmgﬁq: Iodaa FEl A A BRI T 278 0

(@ Fa@i13iRe (@) e 130K 2 |

(b) Faa 2 (b) e 2

(c) aﬁﬁlaﬂta : () ae 3

(d) 1,23 3 ' (d 1,233

HGY-P-JHKI (26-A)
=
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61. In India, which of the following can be [ 63. Which of the following factors/policies were
considered as public investment in affecting the price of rice in India in the
agriculture ? recent past ?

1. Fixing Minimum Support Price for 1.  Minimum Support Price
agricultural produce of all crops
0 Gomputerizstion of Primary 2. Government’s trading
' Agricultural Credit Societies 3.  Government’s stockpiling
3.  Social Capital development & Consss sabsdisa
ici ly to f:
Krea slactvisty supP e Select the correct answer using the code given
Waiver of agricultural. loans by the Sl :
banking system

6.  Setting up of cold storage facilities by (@) 1,2and4only
the governments _ (b) 1,8 and4 only

Select the correct answer using the code given @ ZandSonly

below :

(a) 1,2and5 only @ 1,2,3and4

o
() 1,3,4and5only . @
(¢) 2,3and6only ; . . \
64. Consider the following'statementsy
(d 1,2,3,4,5and6
The vilue tE]I‘l 0-Sri Lanka trade has
62. What is the importance of the term “Interest. \ C&I_l’;lstcnt]y increased in the last
- Coverage Ratio” of a firm in India "\ QB decade.

1. It helps in \:imtlerst.andmg tl e present 2 “Textile and textile articles” constitute
risk of a ﬁrm"‘ihukvban‘k is going to an important item of trade between
mvglean to %

India and Bangladesh.
(lt.)hé]/[;mm evaluating the emergmg risk
\ of 2 firm that a bank is going to give 3. In the last five years, Nepal has been
loan to. the largest trading partner of India in

3. . The higher a borrowing firm’s level of South Asia.

Int,e,mﬂ Covm"agc-: Ratio, the worse is its Which of the statements given above is/are
ability to service its debt,
correct ?

Select the correct answer using the code given - :

below : (a) 1land2only

(a) 1and2only (b) 2only

®) 2 only -(c) 3only

(c) 1and3only '

@ 1,2and3 (d 1,2and3

HGY-P-JHKI (27-A)

|

|

i
1
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5.

frafafaa 4 ¥ fra agg & off 9l 39 G20
& weEn €2

6 67.

(a) m,ﬂﬁaﬁ.ﬁmamqégﬁ
(b) srreferEn, Frel, weifim @ gEficivg
() e, W, 95 aa vd fagam

@) gemfirn, s, fmg wd e S

| pep—ry— v -
i A for-fe Rzl & Rag St B seawe
o7 el IYeTR O A R 2

s sfEafEl & w@awE g wRda

G6.

ht o ferg °\\
; n
2. HETRd wers Wi, s 5|
1 % Rig J‘i %\@
P \,, 8.
f\@m@%m S e
(a 4. HUA HeTE & A1g  GEl & _
5. gfEr % fau o Fufu o vig 3 sfarm
gy i v ¥ fag
IR few e Fz w1 @ = ad I gh
(@) e 1,235 y
(b) %rclal,aa_ﬂu
(c) Faw 2,3,43 5
(d) 1,2,3,4aﬁt5_
HGY-P-JHKI ( 28-A)

fFafafiga st v faear Aifs .

g gl wOINIE Yed gaARE
(CPD T MR (weightage) ITh ‘Ui Hed
gawiw (WP ¥ fau o wr @ arfirs R 1

1.

2. WPI, A3l % gedi #9719 afEd
w! Tl gehgal, a1 R CPIF@ @ |

3. widi fod d% 3 s gedfe & 1e
A #g aur @ it < & Frafor stk
gfada & WPI 1 319 forn 2 )

Iwfd weAl A WA Tl A 2

(a) Faa 130K 2

(b) 'Sh'aaz (\

A - \

%aaa

%(k I\Qaﬂta

frfefes ol @ R ffe ;-

7 7 aret ferdl 8
BT VS WIR

ey smafer arR

arem e g

Iqa gl 8 /@ A g gk {748 2
Hae 131K 2

Fad 3

Faet 3 3 4

Fad 1,2 3T 4

L

(a)
(b)
(c)

(d)
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65. In which one of the following groups are all | 67. Consider the following statements :
E S cotmteion serobore of (0 2 1. The weightage of food in Consumer
(a) Argentina, Mexico, South Africa and Price Index (CPI) is higher than that in
Turkey Wholesale Price Index (WPI).
(b) Australia, Canada, Malaysia and 2. The WPI does not capture changes in
New Zealand the prices of services, which CPI does.
(¢) - Brazil, Iran, Saudi Arabia and Vietnam ~ Reserve Bank of India has now adopted
: WPI as its key measure of inflation and
(d) Indonesia, Japan, Singapore and South to decide on changing the key policy
Korea rates.
Which of the statements given above is/are
t?
66. Under the Kisan Credit Card scheme, —_—
short-term credit support is given to farmers (@) 1and2only
. 3 P o
for wlncl.l of the following purposes ? i (b  2only \ m
1. Working capital for maintenance of (©) 3only - "
farm assets . @ :
(s 1,2and'8
2.  Purchase of combine harvesters, \ A
tractors and mini trucks \“
Lo
par - . - g o
3. Consumption _requirementd "\‘-E ), W 687" Consider the following pairs :
households (Q River Flows into
4'(, Pos "'\]'@f{ ® L Theit 1. Mekong —  Andaman Sea
2.  Tha —  Iri
5.\ Construction of family house and o ol o
setting up of village cold storage facility 8. Volga —  Caspian Sea
Select the correct answer using the code given 4. Zambezi — Indian Ocean
below : Which of the pairs given above is/are correctly
matched ?
(@) 1,2and 5 only ;
(a) 1and2only
b) 1,3 and 4 on]
¢ - (b) 3only -
(©)  2,3,4and 5 only (¢ 3and 4 only
(d) 1,2,3,4and5 (d) 1,2 and 4 only
HGY-P-JHKI (29-A)
.
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69. F=fafad wuAi w faem Hif : e

1.

aft s, g wE foee s g
e ged’ (MSP) W 9N (@{ig) wia
% fordl o TSzl wE (g4.)
i S @ 1

2. Nl wW gwi @ Msp fedt ot
Tsasbg-fta wew # 38 ' w Fifa
T wman 2 B 'R W AR g @
el vg= Wk |

I9gaa el A A FE-AVA TE YE 2

(a) a1 72.

(b) Faw 2

(@ 13w 23F

@ JA@M1,Ad2

70. WRdE wderaen & d@e #, Frafafes Fai

Wi & wiephe sk & wed #, frafafaa
gl W fa=m ifew
1. Sferee —  qfwrht 3 sy

— 3= 93y gl
— g ud =51 grumer s

Iudaa Wi 3 A -8 wd gitfea € 7
(a) Had 130T 2

(b) Had 133

(0 Fad 233

(d 1,223

i wiftEl & e 1, frafafes sl w

‘ﬁﬁl‘l’(aﬁﬁ{t{:

1. iR % o 1 gE A HE R

2. zmﬂamaarwwhﬁxzzmﬁﬁ
Hohdl |

i mr:qﬂmeﬂnwaﬁtﬁang?ﬁ\ﬁ

2, aWu
3. 3J9IEsh

T foEw *ﬂﬁm : Q@W L \g |
1. ‘afiifSe® 93  (Commercial Paper) \\ * ‘-\\’%'Wﬁ{ ‘I\\mﬁm # waifas
s wfagfa 9T 2 |
e \ ; P \?ﬂ%mﬁﬁaﬂﬂm{ﬂmﬁ%ﬁ?

: W,mm 3 (Certifiggts Wpapdiodo Y\ (@) Faer 130 2

ﬁii‘?f?@ﬁ@ e (b) a2 30T 4

(©) o<t 3
o %?T\':f(:allj Money) ITIGEH (:n St 1.3 K 4

{04

4,

3I9ged wUAl 1§ A BE-AA gd 7 7
(a) <had 130T 2

(b) Had 4

(¢) Had 13 3

(d) had 2,330 4

HGY-P-JHKI

@“Q‘“‘?

F3 5 fow wgw orea safu w1 faw

73.

‘qg.ﬁq:[ qivg  (Zero-Coupon Bonds)
fpr w13 o = wfgd eTwEE 9
21

(30-A)

frafafaa i @ s Gdde &7 sa0 afEm
dfemio

1. TRER TEE IUH

2., wiftemiel T am

3. wogETem 9 i am

4, 9EATS IUSIE SR

= iy e Fz w1 w@m W=l 3w i
(a) Haw 130K 2

(b) Fae 33 4

(¢ Fae 1,334

(d) 1,2,33R4
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69. Consider the following statements : 7L
1. In the case of all cereals, pulses and
oil-seeds, the procurement at Minimum
Support Price (MSP) is unlimited in any
State/UT of India.
2. In the case of cereals and pulses, the
MSP is fixed in any State/UT at a level
to which the market price will never
rise. .
Which of the statements given above is/are
correct ?
(a) 1lonly
(b) 2only 9.
() Bothland?2
(d) Neither 1 nor2
-
70. With reference to the Indian economy,
consider the following statements :
1. ‘Commercial Paper’ is a short-term
unsecured promissory note.
2.  ‘Certificate of Deposit’ is a lon }.armf
instrument issued by the e a
of India to cor omhon J
3. ‘CullfMoney' 1s m shﬂrt rm finance
\ @d or mter ank transactions.
4§= ‘Zcro-Cuupon Bonds' are the interest 73
bearing short-term bonds issued by the | =
Scheduled Commercial Banks to
corporations,
Which of the statements given above is/are
correct ?
(a) 1and2only
(b) 4only
(c) 1and3only
(d) 2,3and4only
HGY-P-JHKI (31-A)

With reference to the cultural history of India,
consider the following pairs :

1. Parivrajaka —  Renunciant and

Wanderer

2. Shramana —  Priest with a
high status

3. Upasaka —  Lay follower of
Buddhism

Which of the pairs given above are correctly
matched ?

(a) 1land2only
(b) 1and 3 only
(c) 2and3only
(d) 1,2and3

With reference to Indian elephants, consider
the following statements :

1. The leader of an elephant group is a
female.

2. The maximum gestation pcrim? C
22 months. %

3.  An elephant cngfnorm’;ﬁy go,on calving
till the age ot‘ 40 Years only

Among the Slzute\s"m India, the highest
elcphnnﬂmpulataon is in Kerala.

;) &Wnch of the statements gwen above is/are

correct 7

(a) 1land 2only
(b) 2and 4 only
(c) 3only

(d) 1,3 and4only

Which of the following Protected Areaé are .
located in Cauvery basin ?

1. Nagarhole National Park

2. Papikonda National Park

3.  Sathyamangalam Tiger Reserve
4. , Wayanad Wildlife Sanctuary

Selcct the correct answer usmg the code given
below :

(a) 1and 2only
(b) 3and 4 only
(c) 1,3 and4only
(d) " 1,2,3and4
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T4.

765.

76.

HGY-P-JHKI

Fal,

wa @ JafafReme F oGl d, diem
WIS, Sty ane, U-frs i@z 3ik
BI5-91eE TR 7 § 7

(a) gzt
(b) WIEAE
(c) @Gy

(d) INT=R

il o g (arefam) f 3w Igenfa, St
Ll T R e cep—
2, %mm%%ﬂﬁmﬁﬁlﬁanﬁﬁam
wiféra aa wfag 2 2

(a) TR T I
(b) WFE T g
(c) YGUETE G=IS(E INFNTY
(d) dIE TOR TSIE JAHIN0Y

v\

F fmfor & faw

2. P gg & guR * g

3. e % seEA ¥ g

= 3y e gz F Wi = g W gf
(@) e 130K 2

(b) Hae 230 3

(¢) %ae 13K 3

3&%\%@\“@ |

d 1,233

(32-A)

77, frafafaa 4 ¥ *R8 W@ weites @y

T § 9§ HE0 gU A WEHfe Er| #
firer @ 8 2

1. IEhie il AT

2. TR g 3Am

3. Frmg a=rhe svarsy

4. UAY U IAA

=t e ¢ Fe w1 wEm W @ I g
(a) heet 130 2

(b) “hae 23R 3

(¢) haet 33N 4

(d) hae 1304

3ot fifPa Tewree seNfirh
iéeie e

ﬁ@m@mmmaﬂmgﬁq:
(a) %Fae 1,230R 3
(b) %I 2,330 4
(¢) Haw 435
(d) ¥ 135

g e W M
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74. With reference to India’s biodiversity, | 77. Which of the following are the most likely

Ceylon frogmouth, Coppersmith  barbet, places to find the musk deer in its natural

Gray-chinned minivet and White-throated habitat ?

redstart are 1.  Askot Wildlife Sanctuary

(@) Birds 2. Gangotri National Park

(b) Primates 3. Kishanpur Wildlife Sanctuary

(c) Reptiles 4. Manas National Park

(d) Amphibians ' St'rlect the correct answer using the code given
below :

(a) 1andZ2only
75. Which one of the following protected areas is

well-known for the conservation of a (b) 2and3only

sub-species of the Indian swamp deer (c) 3and4only
(Barasingha) that thrives well on hard ground (@ 1and4only
and is exclusively graminivorous ? -
(a) Kanha National Park x
. ..
(b) Manas National Park 78. In rural road constructmn, ofs-.rlnc of
- the Ol‘ollowmg is pref d for ensuring

@) Madoaldt Wil Senstumry nllr“nm\éﬁtal \ntmnablht.y or to reduce

(d) Tal Chhapar Wildlife Sanctuaryy ﬁw @ bon footprint ?

A
\ 1. Copperslag
76. Steel s]a.g '@matenal or which of the 2.  Cold mix asphalt technology
foﬂowm \ 3. Geolextiles

Coustructlon of base road
4.  Hot mix asphalt technology
2. Improvement of agricultural soil

5. Portland cement
3. Production of cement '

Select the correct answer using the code given
Select the correct answer using the code given ' b &

below : below

(a) 1land2only : (=_1} ?l, 2 and 3 only

(b) 2and3only (b) 2,3 and 4 only

(c) 1and3only (©) 4and5only

@ 1,2end3 @ 1and5 only
HGY-P-JHKI (33-A)
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79. Trafafas s w famm fifdc .

1. w6 wa i awite, @@ it g
sfafde g & |

2. Igen waifera faygq @43 watawor 1 et
SRATGEES N ARSH & AaEES
Ieaffa @ € 1

3. WRdE wEd § @ R s wEn grh
S R )

Iugaa weEl A A B T B 2

(a) Had 1

(b) Faa 2 33

(c) has 3

(@ 1,23M3 .

80. W i AR F T ITEAM R 2

1.  FEER S@Eiut @@l (vertical farming) H
giga mem F stw & v wgw S
1 G B | : TXX@H‘\

2. W W\@m i &
ﬁ%@\ﬂgﬁh w41 STal @, d a8
@mﬂhﬁm‘ﬁm gl 6 gfg
g Sl @ |

8. 4 MR Iigw mem % 3w ¥ w9
Wy fFn @ R, @ W s ghew
mem fl S gaa w A wR
W O G WA W HRES al R |

Iodad wuAl d A WA w2

(a) e 130K 2

(b) Had 2

(c) Faet 13 3

(d 1,233

HGY-P-JHKI (34—

81. 3fg forst N9 < faffie sifa =6t a=rsha e
stfufem, 1972 srpEh vid @ T R, @
U1 T qTeqd & ?

() 39 WY i @dt =@ F o axdg A
STEYIHAT 2 |

(b) & N H A e o oftfeufy & 98 @
gl |

(¢) 98 Tk JARHG; Fafa waefl 9iu1 @ |

(d) Uar dur JmEE BT & 3R wifET
fore g g @ 1

82. WA Wrdia T veEw &% @ & de #, R
b, FgU al A frm o frear@a o

(a) Tl =R = @@ Seeme \\
(b) Wﬂ%@&ﬁﬁ

ﬂo\(ﬂwmmaznwﬁﬁa‘ﬁm

@) @ig o & wgwqul didere

83. g?féﬁi i YA-IAE (zero-tillage) HI/F w1 TN
?

1. ﬁm‘-ﬁm%a@ﬁ@mﬁmﬂ{
61 g3mg wva R |
wEe H 78 N h @l T B, am
& ofisil T ger # A Ager a2
¢ 8. WY FEA YUFH G9E R |
A e e e = wEm woad v gh
(a) Faer 130K 2
(b) had 23R 3
(c) ad 3

(d 1,233

A)
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79.

80.

(a) 1and2only
“(b)  2only
(¢) 1and3only
(d 1,2and3
HGY-P-JHKI

Consider the following statements :

1. Coal ash contains arsenic, lead and
mercury.

2.  Coal-fired power plants release sulphur

dioxide and oxides of nitrogen into the

environment.

3. High ash content is observed in Indian

coal.

Which of the statements given above is/are

correct ?

{(a) 1lonly

(b)' 2 and 3 only
(¢) 3only

(d 1,2and3

What is the use of biochar in farming 7

1. Biochar can be used as a part of the
growing medium in vertical farming.

. N C

2.  When biochar is a pmt of ‘the g 'w“ ing

pmmal.ch the growth of
1% .. )
nitrege n-ﬁxmg nucroorgnmqms

. Ye

\ heén’biochar is a part of the growing

Which of the statements given above isfare
correct ?

medium ‘le

medium, it enables the growing medium
to retain water for longer time,

(35—

81.

82,

A)

If a particular plant species is placed under
Schedule VI of The Wildlife Protection Act,
1972, what is the implication ?

(a) A licence is required to cultivate that

plant.
(b)  Such a plant cannot be cultivated ander
any circumstances.
(¢) Itis a Genetically Modified crop plant.
(d) Such a plant is invasive and harmful to

the ecosystem.

With reference to the period of Gupta dynasty
in ancient India, the towns Ghantasala,
Kadura and Chaul were well known as

(a) ports handling foreign trade

(b)  capitals of powerful kingdoms,,

(c) places of exquisite stone Yart angd
architecture
impesantSudtn e Sl e

gi) mmoKnL \\uddiyt pilgrimage centres .

What “i&/are the advantage/advantages of

zero tillage in agriculture ?

1.  Sowing of wheat is possible without
burning the residue of previous crop.

2. Without the need for nursery of rice
saplings, direct planting of paddy seeds
in the wet soil is possible.

3. Carbon
possible.

sequesiration in the soil is

Sclcct the correct answer using the code gwcn
below

(a) 1 and 2 only
(b) 2and3only
(¢} 3only

) 1,2and3
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84. Wid & Fadun H ufa Afa F smErn,
WNadm F I & fou Fafafea 4 A
foRmreRt 39 =) e % w9 A B aHar g 2

HETEl
afomre 1€ & M

HrEet & o

Fadt (Horse gram)

T S

The

(a) ¥ae 1,2,53M 6 | -
(b) %Fae 1,3,43R 6
() Faw 2,3,4 3 5
@ 1,2,3,4,53R6

ﬁmﬁrﬁaﬁﬁﬁﬂﬂqmw "\?;@
Wﬁﬂﬂmﬁmmﬂ\ ﬁ;@ﬁﬁ

fFafafea § A frae

1
2
3.
4

e

6.

mzﬂiﬁ@:aco & IoEeE A B
arefl Gefwrelia afy

el <m i Sharm duEi A s,
R e qu o amfenl @ aegd

(b)

() Frft Sy woneff (Climate refugee)
g forelt e o & wfa sl 29 ¥
fh e s
(@ y=h ' W frdl safes fiw g sivea
WA et
HGY-P-JHKI (36 -

86. WA W Il F I & weM #H, Fr=fafaa
HoAl I fEm Aif .
1. 335 6 Wt @i% i = 2 waal §
<l 1 Gl @ |
Fel rel ITAGA 1 ST SNYT NI Heael
W 1 g R
ot @ gl #, sl wls gel @
gﬂlﬁﬂm%,aﬁ’fnﬁa’ﬁﬁwmm
21
I9gad wUAl A BHEAVA T 248 2
(a) Fad 1
(b) haw 23 3
(¢) et 2
(d 1,233

‘wmmm@aummm
mmﬁm%iﬁzﬁm%mﬁa\mﬂm

2

3.

87.

gomzﬁaﬁaﬁig\s)o-mo\\matd
NEAREE \ \&=h gamafia e
" %ﬁ%@%&mﬁ%m@m%
o wq ITFA ' |7 U® HEA
ﬂ\ﬁqﬁﬁaﬂﬂﬁaﬁm%? "’
¥ () UM
(b) e
(c). =1
@ =M

88. aﬁmﬁﬁ%ﬁaﬁﬁ,ﬁn&iﬁamﬁm
faam Hift -
L EsE # wm g 99 oen %

e & wdw sk fese
(submersible) W4 % fore & |

2. R S W g 9 @) aen ¥

I

mﬁaamﬁfﬁﬁtmwaaﬁ%fgo

(a) a1

(b) et 2

(¢ 13k 23Mi

(@ T 1,782

A)
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D Tt e s rasas TR
N R A R e TR e,

TFiES ey L

TR T

T ——
- Ry

HGY-P-JHKI

According to India’s National Policy on
Biofuels, which of the following can be used as
raw materials for the production of biof; uels ?

Cassava
Damaged wheat grains

Groundnut seeds

@ o

4. Horse gram
o. Rotten potatoes
6.  Sugar beet

Select the correct answer using the code given

below :

(a) 1, 2, 5 and 6 only
(b) 1,3,4ands only
() 2,3, 4and5s only
(d) 1,2,3,4,5and 6

Which one of the following statements best

describes the term ‘SBocial Cost of Cnrbon\‘.‘:.;\[.

" . -
It is a measure, in monetary value,.of ﬂm&

(a) long-term dﬁn&g‘é@n@ a fanne of
COo, cm;minnm f\%iv\én%E{r.

(b) (mtmﬁﬂ'\e_{li{u) of fossil fuels for a country
to provide goods and services to its
-citizcns, based on the burning of those
fuels.

(¢) efforts put in by a climate refugee to
adapt to live in a new place.

(d)  contribution of an individual person to
the carbon footprint on the planet
Earth,

(37-A)

With reference to pulse production in India,

consider the following statements :

1. Black gram can be cultivated as both
kharif and rabi crop.

2. Green-gram alone accounts for nearly
half of pulse production. k

3. In the last three decades, while the
production of kharif pulses  has
increased, the production of rabi pulses
- has decreased.

Which of the statements given above isfare
correct ?

(a) 1only
(b)  2and 3 only
() Zonly

(d 1,2and3

+The crop is subtropical in nature. A hard
frost is injurious to it. It requires at least
210 frost-free days and 50 to 100 centimeters
of rainfall for its growth. A light w o] -drained\
soil capable of retaining mojstu "%‘Aideaﬂy
suited for the culﬁ\-ution\- of m\\t:r\a@."{."ml‘fch
one of Ll(:)c followingiis lhn{fr{;ﬁ

(a) - Cotton

&19 \VJ u tu\

|
o) \S ugarcane
(d)

Tea

With reference to solar water pumps, consider
the following statements :

1. Solar power can be used for running
surface pumps and not for submersible
pumps,

2. Solar power can be used for running
centrifugal pumps and not the ones with
piston,

Which of the statements given above is/are

correct ?

(a) 1only

(b)  2only

(c) Both1and2

(d) Neither 1 nor 2
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89.

i 8 T A @ # adue wgf S e,

ﬁq%@amzﬁmﬁan?ﬁm

1. wa 98 fuu @@ (bud  chip
scttliugs)’ﬂﬁmﬁm'ﬂ@?ﬁqﬁ
i wfrdifta foran sman R, @@ IS wwER 3
<) I Bl 2 |

9. wa U@ H Wi uw fFm s B, @@

UFFAH  (single-budded) W H
Sl gfaea ¥-Hiciehl (many budded)
Bzg A g 1 gt g 2 |
3. wua uem f g # AR dg@ w1 @9
vy g1 B, 79 Uh-hiehl 4@ @l Sifad
e a3 dgg A e et A R |
4. T i =, mmﬁqﬂ&m?ﬁné
Fefem & <t o Tl & |
I9daa el § |/ HH-AI/A W 88 ?
(a) haet 130 2
(b) a3
@ ¥ 13ia Mk\@\“ %
() %saazaaﬂt \g
) % Hz%i ﬁ frafafes % a4 Fea/ffe
\(tl{nzﬁlfm qIReE-Ahell HIY qHT I R ?
1. . wad fafausq
9. T anfusa (Legume intensification)
3. firanfiet %1 wEm
4, miﬁi'?ﬁ (Vertical farming) o
ﬁﬁqm@mmwﬁmﬁﬁq ;
(a) HaA 1,230 3
(b) HIA 3
(c) Had 4
@ 1,2, 834
HGY-P-JHKI (38-A)

91. M H GIEA (fertigation) % FIT &I & ?

1. i s i e w1 Frw a2 |
9. T WiEhe 3 Tl I HIChEH IATHI
1 AT % WY SN T 2 |
3. didi % foe dives 3 g wen A gaw g

S gHd § |
4., TEREEES daes & Reer § i e R |
R few T FE F W@ = FE IR gAY
Fad 1,2 3 3
Fad 1,2 3K 4
eret 1,8 AR 4 )

(a)
(b)
(c)

(d)

frafefas wfei w fer fifg
1 e

2. TR

3. ThIAIRC

4. foefiarge

e #, S7w A /@ iR w9 @
i @ @S (major minerals) #/8 ?

(@) Fad 13K 2
Ha 4

aer 130 3
e 2, 3 3R 4

(b)
(c)
(d)
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With reference to the current trends in the 91.
cultivation of sugarcane in India, consider the
following statements ;

89.

; A substantial saving in sced material is
made when ‘bud chip settlings’ are
raised in a nursery and transplanted in
the main field.

2, When direet planting of setis is done,
the germination percentage is better
with single-budded setts as compared to
setts with many buds.

3. If bad weather conditions prevail when
setts are directly planted, single-budded
setts have better survival as compared
to large setts,

4, Sugarcane can be cultivated using
settlings prepared from tissue culture.

Which of the statements given above isfare

correct ?

(2) 1and2only
(b) 3only

() 1andd4only
(d) 2,3 and4only

90. In the context of India, wh ch oft Fo]@ng
is/are cunqukerc-gd tq‘?ig rac mﬁ(s) of
eco-friendly ugncul r.u e\'al__,,

( ; C‘::Q\\; }\‘:}'&Iﬁc‘lllﬂn
3.

4. Vertical farming

‘fume intensification

Tensiometer use

Select the correct answer using the code given

below :

(a,;l 1,2 and 3 only
(b) 3only

(c) 4donly

A(d) 1,2,3and4

HGY-P-JHKI (39-A)

What are the advantages of fertigation in

agriculture ?

1. Controlling the alkalinity of irrigation
water is possible.

2. Efficient application of Rock Phosphate
and all other phosphatic fertilizers is

possible.

3. Increased availability of nutrients to

plants is possible,

4. Reduction in the leaching of chemical

nutrients is possible.

Select the correct answer using l.hu code given

below :

(a) 1,2and 3only
(b} 1,2 and4only
{c) 1,3andd4 og]y

{d} 2,3 ﬂnK oni

on V"

N C:X:dcr the followmg mmcra]s

Bentonite
2. Chromite
3. Kyanite
4. Sillimanite

In India, which of the above isfare officially

designated as major minerals ?
(a) 1and 2only

b 4 only

() 1and3only

(d) 2,3andd4only
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93, HEErR l@d  W@9HH (Ocean  Mean
Temperature/OMT) E3 Hﬁﬁ #, fisfafea # 3
AW/ wUT g8 /R 7
1. OMT &I 26°C GHaM™ 1@l 6l TeUd
o S 2 oW wEad -ue 61 =
TR % clmufzem 0 129 Hiw W
Bt 2 1

2. OMT, S sadl — ard ¥ usfya e smen
2 39 =z Puifte =0 % e w@m fwn
1 wwa & 6 wga A gt f wen w
frfea Aedwrefia sitaa aui @ w0 goft @
i |

2 R T e T R EE I G

(a) Had 1

(b) Ha 2

(© 13K 2gF

(@ @@ 1,782

mnmﬁmaﬁeﬁﬁ:ﬁﬂxﬁ-ﬁn\gﬂwﬂ

95.

L

94.
oAl W faEm A

T\Q'— a.]
1. WQ LU (]
\\\ “% Wasmmamﬁuﬁm

fa \\\\J»\
(9

mﬁmﬂm&mmﬁﬁmm% g
wipfi | @ IaA B g |

3. wew, S WERfs o I & fn
FeN WA 2, 98 A WA HRE@H H
e 2 |

Iugad FUAl | BH-A/E FE RAE ?

(a) a1

(b) Hae 23R 3

(c) had 2

(d 1,233

96.

HGY-P-JHKI (40-A)

I % 9% U suE % el #, Frefalea
i HHA woE wd # 2

1. ¥g 2 el ¥ fowga 2 1
9. IAM F WL HIE WAE a9 TS TE R |

3. ' Dz it awd’ & wglas s #
AL |

M Ru e e w1 wEm wOEE IW AT :
(a) Had 130 2
(b) %ﬁ?—g,zm’lts(\ \(\

S

(@ 1,233

&@a*aﬁt 3

R R wel @R 2
(a) /e RS g

(b) Vg HydH

(© frafie % Iw

(@ T gl F IWAH
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-

.

e

With reference to India’s Desert National
Park, which of the following statements are
correct ?

1. Itis spread over two districts.

2. There is no human habitation inside th_c

Park.

3. It is one of the natural habitats of Great

Indian Busturcri.

Select the correct answer using the code given

\\f\

below :
(a) 1and2only
b) 2 and 3 onl?\ \ @“

ln d3

: 1,2and 3

96. Siachen Glacier is situated to the

(a) East of Aksai Chin
4
(b) EastofLeh
(¢)  North of Gilgit
(@  North of Nubra Valley

93. With reference to Ocean Mean Temperature | 9
(OMT), which of the following statements
is/are correct ?

1.  OMT is measured up to a depth of 26°C
isotherm which is 129 meters in the
south-western Indian Occan during |
January — March,

2. OMT collected during January — March
can be used in assessing whether the
amount of rainfall in monsoon will be
less or more than a certain long-term
mean,

Select the correct answer using the code given

below :

(a) 1lonly

(b) Z2only

(c) ‘Both1land?2

(d) Neither 1 nor 2

94.  With reference to chemital fertilizers in Il{dm'\
consider the following statements : e \
1, At present, the ﬁ{tml prl@bf clgt'mkil'

fertilizers 1:. mnrléel.-duvm’ aﬁd not
adnun:Btered by@a.(:ovcrn ment,
0 Pa \ s

2. monia; which is an input of urea, is
produced from natural gas.

3.  Sulphur, which is a raw material for
phosphoric  acid fertilizer, is a
by-product of oil refineries,

Which of the statements given above is/are

correct ?

(a). lonly

(b)  2and 3 only

(¢} 2only

(d) 1,2and3

HGY-P-JHKI (41-A)

1
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C 4.

g8, Pr=feiaa wudi vt frem Hif :

\c’&

HGY-P-JHKI

o7. Wra ¥ ghem ¥ wed #, Frafafea 3ol W
feram A :
virg T AT T
1. fem  — WENRE
2. FEEgR — TERIY
3. ffem — T
WO —  SWNRd
ardaa 1 @ FR-A 7w T gl 2
(a) Fae 133
(b) Fad 19K 4
() Faw 23R 3
(@ e 230K 4 ‘

N

\.\;J

L %ﬁaq ufl s mfum*(\é(%

SG% “

(6’,\ r:, loﬂgisﬂﬂg] “Garequl” (critical)
@arffga frmgan 2 |

cGwA W fmfn ‘gl (ERew)

arfufram’ & i g |

Rz 1 yore fe % orla T Tt
SRR

sudea Ferl # A B T R 2
@) Fae 1

(b) Fad 23R 3

(¢) Had 2

d) FHad 133

99.

\%ga

g wel T R AR ;

| e vaR ¥ew Ih med # E

g1

Yo Fo AW @ Fp A iy I
FW E |

2.

3. weal <l Amfd % e H AH

STEaTE ¥ A A T 10°C F B
(3
aqﬁﬂﬂiﬁﬂﬁﬁ'@l?rﬁ;l-mlaﬂ@%f??
(a) WaE 1 m
0\ -

® ©

(@) Faw 133

100. freffas am omfim & 3 “wifes aE
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97. With reference to the history of India, | 99. Consider the following statements :
consider the following pairs :
Womons Pl Present State L. Jet streams occur in the Northern
Hemis :
1. Bhilsa — Madhya Pradesh Salapbives ool
2. Dwarasamudra — Maharashtra 2. Only some cyclones develop an eye.
3. Girinagar —  Gujarat
‘ Sthanesvara Uttar Pradesh 3.  The temperature inside the eye of a
. cyclone is nearly 10°C lesser than that
Which of the pairs given above are correctly
matched ? of the surroundings.
(@ 1and 3 only Which of the statements given above is/are
(b)  1and4only T
(¢©)  2and 3only
(d 2and 4 only ., @ lonly
(b) 2:1nd30qbr " @\“
98. Consider the following statements : \
]
1. 36% of India’s districts are classified m 9 %
“overexploited” or “critical” by\ Lh(.( \@‘
Central  Ground Water Ahﬂmr:t}\ W landaonly
(CGWA), \\\ @\3 e
2. CGW @orq’ under  the
i ern eu.l»l’rotcctmn) Act. '
" i T e T— 100. Among the following Tiger Reserves, which
groundwater irrigation in the world, one has the largest area under “Critical Tiger
Habitat" ?
Which of the statements given above is/are
correct ? (a) Corlgett,
(a) 1only
(b)  Ranthambore
(b) 2and3 only
@ 2aaly (c) Nagarjunsagar-Srisailam
(d) 1and 3 only (d)  Sunderbans
4GY-P-JHKI (43-A)
I

X\

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : HGY-P-JHKI Test Booklet Series
TEST BOOKLET
GENERAL STUDIES
PAPER - I
Time Allowed : Two Hours Maximum Marks : 200
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,

ETC. IF S0, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2.  Please note that it is the eandidate’s responsibility to encodo and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the. Answer

Sheet linble for rejection.

Y 4\

3.  You have to enter your Roll Number on the

Test Booklet in the Box provided alongside. ° ﬁ\( \ -

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 100 itoms (questions). Each item i:.;:priﬁ!.:cd b\a‘%h in-Hindi and English.
Each item comprises four responses (answers). You will select the regponse which you want to mark
on the Answer Sheet. In case you feel that thee i more than one correct response, mark the

response which you consider the best. Injany caéé_“,‘-pﬁo{'lsse ONLY ONE response for each item.

4 £ - h Y]

5. You have to mark all your response§ ONLY on the separate Answer Sheet provided. See directions
s

in the Answer Sheet. + 1% %
6.  All items carry equal marks), \ | Lo

S

7.  Before you prﬂccﬂdﬁfﬂ'@f&fi}g Ll?\d'iAnswcr Sheet the response to various items in the Test Booklet,
you have to-fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate.”

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
cuncluded,” you should hand over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.
9.  Sheets for rough work are appended in the Test Booklet at the end.
10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer

to overy question. For each question for which a Wrong answer

has been given by the candidate, one-third of the marks assigned to that question will be deducted as

penalty.

(i) Ifa candidate gives more than one answer, it will be treated as a wrong answer cven if one of the given

answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.c., no answer is given by the candidate, there will be no penally for thut

question,

DONOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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